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1. Find the m«s1

Nl
wml2.=1R0—1lle=

-4 ]
3. Find the value of x

X+ X+t X—74 =80

X=79=66~"79=-12

no ¢olubon; / gu't be negahve

4, Find the value of x.

I5x—ltYx =90  15x-16
19x ~ =90
te +Hb
9x=106

74 19
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2x— 8 =18D
+18 N¥

name hr

81 tox=9x-32

5. Findth | f —éx —@(
B n e value orT X. o e
exterior 2 Ham . €2 =3x —33%

/,é'-
but ¢(28.2)
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SD "o Sa\ e
6. Write a congruence statement for the

triangles.
R v i

ssarz AYT LA

; 3rd /s Puen .

/. NZ /X

52 =5x
+57 5 5

150 128=52. { /Q’ﬁ =X

8. Given that AXYZ = ARST, find the

values of a and b, H ZYA/LS So..

use order ¥ s 10n J7-e2
2° - H7H7

/ﬁa sl
=l

7. Find x.
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9. Find x. 'h"-e/"’ ACMZ.&
. w er
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10. Name the corresponding congruent
angles for the congruent triangles.

makl« Z_ with ’H"L U
Same
l/’/lm’kin7 &Q
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1. State the congruence postulate or
3 7 ,{t\%\’\. theorem you would use to prove
’69_?5@‘ W) the triangles congruent.  aMswer

Ris the midpoint of [ -
Q5'and PT. 2 sl
2 S p s libe ft.,glinc.l'-‘dlz\.

>
e £ corresy’.
Git L

F Q gmA.
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@L';ﬂ:" ) peq £ TR (vertix) A1)

12. State the congruence postulate or
theorem you would use to prove the
triangles congruent,
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GEOMETRY - S (part 2)
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17. Which postulate can be used to prove
the triangles congruent? (Without using
the third angles theorem.)

13. Given £X = £T, what sides must you
know to be congruent to prove A4YXC =
A0THby SAS? take oo < iagra—,

and mark- hwe 5iv~c~é ;(‘.l‘,-_-r_ disgram Q
X T
\./M._r)ﬁ— %hz&s?dcifgf‘m“"a"‘ﬁ Mf_,__
so... or SASYETO £ XZ. &TH
14. Which postulate can be used to prove “eg
the triangles congruent? (Without using e”
the isosceles triangle theorem.) T
: \T .
N }’%% < R9
A D> I s 18. Which postulate ¢ sed to prove
J the triangles congruent?
jago]
J .
Shat : Pue inclheded i .
e T is"i\f‘fe = te The corresp A side DA s not
zZ. S iAes ostd inclwded 2 o I} U ;n,c’uAl’.A
e other A, A e tween the
Side - Awgle - Side > /s
SAS
15. Name the theorem or postulate that LA AA S
‘“’L justifies the congruence. AABD =
M,;b ., ACDB dingrae ducs
il g ¢ 19. Which postulate can be used to prove

3 the triangles congruent? (Without using

the converse of the isosceles triangle

L theorem.) v 'HSL
' H . PAL
A)I353&50F01Am%’}53$:&} W_o,,,{::\:’“ W swelde
of' r‘—\‘__ m" A_ . a‘ { .\‘7 __-—\; I_S n0+
cide —side-side X \ WM,_I;&W

oS 3 e/ WYX
A
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- 16. What congruence statement is needed A KA, S
to use ASA to prove 4ABC = ADEF? X v 7

AA"%'A} A"’%'AD X Y z

5 E ] mﬁ;h'fhedwf
pe & LE
Jo use ASA



20. Which postulate can be used to prove
the triangles congruent? (Without using
the isosceles triangle theorem.)
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21. What is the value of x? maHer whedy— 2 As.i&es o Se l
B Cgteexl.
x 11x+5 l4x-1
62 /—'\ 8x+11 y
A ] C
by tue 1508, £\ thm Il x+5=/4Yx—)
Has L is alse “Nx Ik
therefore el 5=3x—]
WeE€ haVe ... + +)
X +éz+b%= ”3;0 &=
+12H =18 > =
X --,17—"’ __"'Z—L’ 25. Find the values of the variabl@
=/5 <
x é gub'}m;.}-g’vm
e Bt g5 durde
2> Zj’ fher 3x-7 x+15 !9\/ =
ide
gl;afﬂﬂi‘:‘i #'f_,m _’gg (11x)°= Y5 (5y+17)°xXY5
f/ﬁl}‘ﬂ a-f‘c — 4% -3 QO_"Z—'T'E B )7 L’S
0. 34-7=xH5 T Bytl7=
37257 Ix=ys ' ;7
-7=] 77 =
2x+ Z i : l/// =
7x = x= ./ y=5.C

23. If AXYZ is isosceles,

then find the value of x.

X
< +x+32=180 [**
2 x+32=/8D0
-32 -32
2x=1"% X
Bl e
= h . ualo X
[X779\ ’Q;'ﬁfz,'spmé
st

24. AABC is equilateral. Find x.
. - L .+ , ‘).‘
al) sides are =, so 1t doesn




